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SH: NET SHEXAD
B F0I0kE PFed
ool mRYRE IE2Y X COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,560 1,560
11 dALEEIXIZE S 1,560 1,560
o OISEE 3 29
10,0003 * 13 »63] 780
odg+ FUNNXAZE A 29
10,0002 * 13 *63] 780
307 212+01& 15,160 14,160 1,000
05 2ItRIE = 15,160 14,160 1,000
O=dd Jt2J| A2l & EA
3,790,000& 42 16,160
AE =d=X S8 82,430 43,476 38,954
101 @12A4H| 29,530 0 29,530
VBIEEE=EPS 29,530 0 29,530
OTRUAE RBE oY
85,0702 «26L x 12«1 26,542
O4iEE J|2RY= 2,988
O B2
26,542,000 *3.545% 941
ONRLEE J|I2E52
941,0002%12.81% 121
O=tlds JA2E=s
26,542,000 *4. 5% 1,195
OnNEEE JI2RY=
26,542,000 *1.75% 465
OtIHEE JI2RY=
26,542,000 * 1% 266
201 fet=3| 52,300 37,476 14,824
01 AtR2t2|HI 28,900 21,876 7,024
OX&Es=33 Z2]8 2% JAE
300,000 ~4JH =122 14,400
OFUAY SA=XD| Xl
560,000+ 122 6,720
OTUAY HASE
350, 0002 x 122 *90f% 3,780
o=uad dJIF 7Y 4,000,000 4,000
02 S5=24g4l 23,400 15,600 7,800
OFLHAE LPGItAHI 1,950,000& «12& 23,400
405 AHaHE =4 600 600
01 ML ESFSHI 600 600
OZxcPI|l 7Y 600
OCretal e et 600,000 600
AL AL THE X E 42,141 54,010 211,869
307 212+01™ 42,141 54,010 211,869
02 LB HANHEE 42,141 54,010 211,869




A AT HAEXA D
B F0I0kE PFed
ool mRYRE IE2Y X (cre:xigl)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OHS MOISXNEXECS AIEX
931,000&* 1300 2 12,103
OHsE MOIE22UE3 A XA
931,000 * 1304 &~ 12,103
OHES HIZAHADIKAKAE AIE XIS
1,055,000& = 1201 2~ 12,660
Ot =2NmsHl HESES| AP
465,000 & *30H 2~ 1,395
OHSHEU XAHASAH AFS XA
3,880,000& * 10 2~ 3,880
MNEAB=AILE J|sE2d 267,508 267,558 A50
MEIHNHE0IE 29 267,508 267,558 AB0
201 LEt2AH| 100 150 A0
02 S22l 100 150 AB0
OOZI0l=0lAIE HHAIRQ EEl2
100,000& *13] 100
307 21Z2H0| & 267,408 267,408
10 AISISAIAIEHESIHIEX 267,408 267,408
OPHOZOIT 22 2%
267,408,000 267,408
=8 J|1E 28, SH, Z At S5} 53,788 49,807 3,981
Y SeHIE F=X 18,548 19,848 A 1,300
201 LEt2AH| 12,398 13,548 A1,150
01 AFR2teldl 12,398 13,548 A1,150
OAZ PHIL2IM RO 10,380
O&I| gRE10A
10,0002 *50L2 #23] *90% 900
O=Al ERE81A
10,000 x50 *23] *90% 900
OZ=QAD Al A
10,000 * 100+ 13| *90% 900
OAIZHEM 10,0002 * 1002 +23| *90% 1,800
O2I3IeHE AIFZHAL
15,000 *3002* 13| *90% 4,050
OoJx=d PFEBIOA
10,0003 x50 *23| *90% 900
OFAR HEA
10,0002 * 100+ 13| *90% 900
OFd HRB1N3F| &9 MH
70,000& *83| 560
OAE MAM MA A8E 1,488
OQCIXITH 320,000 *43| 1,280
Osg= 52,000& *43| 208
202 04| 4,800 4,800
01 2| 4,800 4,800




SA - B SRIBH) - MRAR - BAS A HIDEZ
CEEEEETSICE
20,0003 x10H x24 4,800
405 KHoHFSHI 1,350 1,500 A150
EREDTT 1,350 1,500 A150
OSIIH(BBR2A) AT
15, 0003 »1002 *90% 1,350
2ot SHZA 6,910 5,063 1,847
101 e124d| 6,910 5,063 1,847
M ORINZZ2NSE S 6.910 5,063 1,847
OSHZAL HREX FY 6,724
OAFTIZAL 84,0002 124+202 1,681
OBl - MZEAEAF
84,0203 x 18 20! 1,681
OALRI=A 84,0203 x 18 20! 1,681
OItA==EHI| = XA
84,0203 x 18 »20 1,681
O4i2E JIARY= 186
OunE2d 6,724,000 *1.75% 118
OttEe 6,724,000 * 1% 68
gl gnols 2EEE 28,330 24,8%6 3,434
201 Zet2d] 28,330 24,8% 3,434
01 AlR2telHl 28,330 24,8% 3,434
oxg JIEEE € g8 1,530
Oelst= 5,000 *3000H*90% 1,350
OAFX K X} 10,0002 *20JH*90% 180
OHIZNE M2T=E 24,300
(OES=IN 20,0002 x36F+ 122 8,640
OXIZ Xl 15,0002 81+ 122 14,580
O=2tAl 5,0008 182+ 122 1,080
o+d g=2= MR 10,0002 %250 H 2,500
HEe FAEE xd 854,936 1,016,463 161,527
Rk FA ;X2 612,365 873,936 A261,571
201 2Bt ] 520,534 468,404 52,130
01 At2t2ltl 59,117 77,630 18,513
OFHAL ROUBHIAIAE =2
475,000 123 5,700
O3=J| itz 40,0002 +8LH* 12 3,840
O3JIEEI| Xz
35,0003 401122 1,680
OgRUH == 44,162
Osd|l 22U ==
764,000 x 122 9,168
Os20| HIIZA =2
440,000 12 440




SH: NET SHEXAD
M Z0IpE pE2Y
Rl DHASH AR g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e 4,560,0002 15| 4,560
OALOIRRIZ| ADYY 442
1,170,000« 10& 11,700
OaxgAE H3)|ls & SEI2LES
3,580,000& 22 7,160
OHANAS 448
135&%6,466.02m *83] 6,984
OR4ZE A 248
10,0002 x200=+23] 4,000
O%ies +2ZA =8
150,0002 %12 150
octd eIt NFESEH 1,09
Oagt 250,0002 %13 250
O&J| 150,000 12 150
Osdl 25,0002 %12 25
OJtA 350,000 %12 350
OIIA 280,000 *13] 280
OAL2dE =23 100,000 *4& 400
ONB0I=0IAE A= 570,000 42| 2,280
2 S22l 461,417 390,774 70,643
0Z332= % HMAl 348,482
oNIIR3 26,000,000& ~12& 312,000
O3 2,600,000& 123 31,200
Ous=¢ 2= 5003 %19, 594 m" x50f% 4,899
OagotdE (| 60,0002 %12 60
O&IPI= &3l 200,000& %12 200
OJIAHEHI AL E 2] 123,000 12 123
OAIZ3H| FAll 88,229
OFA 242 |AHI(ESxX)
2,481 +19,504m x9(0% 43,752
OBA ®I1&H SN2
269,968 x2H «502] *90% 24,298
OF AL JIHIEHl 72
224, 2003 x2EH x502| *90f% 20,179
O&FA ZZ2e]
2,541 %3,601m x32] x90% 24,706
206 M=Hl 41,031 46,212 25,181
01 MHZH| 41,031 46,212 N5, 181
OFEAL E2ES 27,8%
OHEEEA S 55
225,000 x5S+ 1238 13,500
O3AES 770,000& * 128 9,240
OMeI| SHHSF
2, 1703 %1350~ 128 3,516




SN 4G BITAD
M Z0IpE pE2Y
Rl DHASH AR g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ostaa MALSM & 45K
20,0003 x25+40H 1,600
OFEAL A& 2SS 12,870
OAIEE a==cl XM 90,0003 *205 1,800
OLED =9 135,000 *55* 1004 6.750
OMIIARE 2tF)| S 58
45,0002 x55+ 122 2,700
OINHLDE BHRITH(5S)
27,0008 +x65+122 1,620
ogxIl RFUH 1,521 %200 £ 305
401 Al HIZL 201 45,300 344,000 A298,700
01 Al&H| 45,300 344,000 A298,700
QJIAEY 4588 89
24,000,000& 24,000
OF AU HIE AIE & =y
18,500,000 18,500
OFXAHI| RABRE FMHEX
2,800,000 2,800
405 AHaHE = 5,500 15,320 29,820
01 TR ESF SHI 5,500 16,320 29,820
CR=) 4,000
OXlgt= £ (2100) 2,400,000 *1CH 2,400
OXIgt 23t &l (145L) 1,600,000 *1CH 1,600
O M= 1,500,000 1CH 1,500
getet 2 HER el 242,571 142,527 100,044
201 er23 | 237,108 137,777 99,331
01 At2teltl 106,251 7,650 98,601
OYH (XY, 30) ==8
20,0003 %1302 2,600
Ozl ctEEE 2703 5,000 1,350
O=83 U Z&E==2
250,000 204 2+53] 2,500
O&A & Ald2tel it 50,000& x5& 250
OXNEAT N5 HE)| 23 1,550
2y 70,0003 %102 A 700
O™ 170,000 *5SET 850
OXXIEH ] Bietat AHIA
2,830 +34,629H 98,001
2 s5=34l 130,857 130,127 730
OXtsSxt 2el 45,957
Oxtghete| 282 41,107
-SEX € 495,000 1CH 495
-SEX S 506,000 ~5CH 2,530
-SEX HE 660,000 *1CH 660




SH: NET SHEXAD
mE: F0lOE INRY
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SE S 517,000 1CH 517
-SEt e 935,000 1CH 935
-3l=i 48 726,000 ~8CH 5,808
-3l=i S 792,000 1CH 792
St A 440,000 1CH 440
-S=X e 1,100,000 *1CH 1,100
A (AEEE) 825,000 3CH 2,475
AN (SEE=2) 880,000 ~8CH 7,040
AT (UWEEE) 935,000& = 19CH 17,765
-HAXE(0IER) 275,000 +2CH 550
OXS A 2,410
-S8Xt 8¢ 75,0002 *1CH 75
-S81 S 250,000 *4CH 1,000
-SEX g 400,000 = 1CH 400
-SgI S 100,000 *1CH 100
-SEt e 120,000 +1CH 120
—SEx 48 56,0002 +8CH 440
-SEX S 55,0002 «1CH 35
S A" 100,000& »1CH 100
-S=X e 120,000 *1CH 120
OstBMNHRY= 2,440
-SEX e 90,0002 *1CH*23] 180
-SE S 150,000 » 1CH*22] 300
-SEX HE 205,000 *1CH+23] 410
-StExt A 50,0002 «8CH*23] 800
SI=xt SE 90,0002 *1CH*23] 180
St A 105,000 * 1CH*23] 210
-st=Xt e 180,0002!»1CH*23] 360
OFIIBMN=2E (58,58, 52, S+1)
27,0003 x20CH =23 1,080
OZEBMN+==R (58,58, 512, S=11)
51,000 »20CH*12] 1,020
OHZHIRY NWEBES 282
4,000,000 4,000
Oxtg= Al 78,800
O&IIRt 1,500,000 *4CH 6,000
Odxt 2,700,000 *1CH 2,700
OsExt 4,900,000 =2CH 9,800
Osgxt 6,500,000 =2CH 13,000
Oszt=xt 4,300,000 11CH 47,300
202 04| 5,463 4,750 713
01 2K 5,463 4,750 713
OLE MU= MHEXH 04| 5,463




SN ASR BEXED
B2 F0I0HE 2H2Y
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oel 37,5002 5% + 193] 3,563
O 10,0002 +524+383] 1,900
st )BIxs U 28 N8 1,019,294 1,059,491 £40,197
OPE Ol WHH G 2 438,363 532,546 £94,183
201 2er2 | 224,883 237,8% 13,008
01 Al 22l 30,800 58,450 227,650
OFE AZE 0| 20H 30,800
@ TSENIES 553, 000/ +50 27,650
OYs= 63,0002 +50 3,150
2 S22 194,083 179,436 14,647
O7F Y B,S WHEH R 160,048
OYeE HEE(591H)
4,843,002 122 58,116
Og2g T2l (24100)
57100024 122 6.852
ORI I|(27tH)
5,551,000 122 66,612
OMgT SeRILZII(190)
929, 00024122 11,148
OUEHIIS tSAID B2 (40H)
250,002+ 122 3,000
OB AHHAIAE 360,000 122 4,320
O7E ¥ B SHOIX RX22
1,225,002+ 122 14,700
OZASW ABRIHI(2H01H2) 29,335
O®al T2 I2(PCR) 28, 000214500 14,000
Ol T2 (MHE)
40,0002 +32 1,320
OURCXI310l T2 03
3, 00021002 3,500
ONeldEASst T2 IH(PCE)
40,0002%1002 4,000
Osstzorze T2
5,002 5032 2,515
OZHHRI 22 T2I(PCE)
40,0002 1002 4,000
405 XHAFF S 213,480 236,660 223,180
01 AL SZFSH] 213,480 236,660 223,180
O7E U B,S BBALEH| 23 213,480
Ol 82 BE 1,400, 00024 +50CH 70,000
ORUH 400, 00024 +40CH 16,000
OZRIE (MEBSY) 600, 00024 +20CH 12,000
LI E=b] 25,000,00024%3CH 75,000
OosgoAI)| 7,960, 00024 +3CH 23,880




SN 4G BITAD
M Z0IpE pEeY
=2el: F23 Jlgtxd & 28 X (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OxpS=e28 Z=81)|J|(3%)
1,500, 000& *3SET 4,500
OUEHII2 thEdln ReIezD]
12,100,000 *1CH 12,100
HES4 JIBAIE 29 580,931 526,945 53,986
201 B2 AL| 461,331 463,390 A2,059
01 ArR22lt| 1,200 1,000 200
OAMEHTA SEEH WE =3
200,000 =6CH 1,200
02 E324Hl 460,131 462,390 A2,259
OSHEE3E AEZ 229,728
O=IHEESHEAMER 196,224
-7 < & =(4M)
1,204,000& =132 &+ 123 187,824
- Mg AAslM
700,000 13| & x 12 8,400
OdEd AIEZ 27,504
-SR0S S|
262,000& +62] & * 123 18,864
T eod-3-JE
30,000 243 &+ 123 8,640
OAl & 3 23|eE=E
500,000& x13| &+ 123 6,000
OHH M AIEZ 4,500,000 128 54,000
OQEHYIIH 3dAME=
30,0003 202 &+ 123 7,200
OHESAEH |2 169,203
OANEEHESAEHI 6,505,500 12& 78,066
OdE Mt wat)| 2,095,250 * 128 25,143
ONEXAA SEEH
200,000& 123 2,400
(OFSE Sy 1,000,000 «6& 6,000
O=dSHAIAE 1,000,000& = 12& 12,000
OFE A SEHI 1,600,000& =123 19,200
OCCTVEHI 1,666,000& 12 19,992
=5 Y SsHES AAE
367,000& 123 4,404
OZAHE S| 166,500 x 122 1,998
206 =4l 6,200 7,400 A1,200
01 M=l 6,200 7,400 21,200
OFESAAE A2 M 6,200
QutP AHolE S 2,500,000 23] 5,000
O3 & L&4H ARS
1,200,000& *13] 1,200
401 AIEHIZ 28I 15,000 46,555 231,555
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00
il

= g0 oK
o 0 20
< R0 KA
R0 M ol
By N
t ol iy
90 5J ™
20 KF RO
gy

IF RO

=

-

KIO

Hlw

88,800
88,800

A\31,555

15,355
15,355

MEE
Ofl &k2h

9,600
9,600

46,555

50,405
50,405
11,424
11,424
11,424

Ofl &F2H

15,000
15,000
10,000

5,000
98,400
98,400

6,600

3,000
66,000
22,800

19,300

3,500
65,760
65,760

1,474
1,474
1,474

- ESS

- SRA(E) - HIRAY

S - B

3

2

5,000,000 *2
5,000,000 *1
660,000 = 10CH

=

01 A=l
01 Xpatsd

405 Xt

<l

Al

0o
oF
3D
R0
0

600, 000& +5CH
66,000,000 = 1CH
3,860,000 *5CH
700,000 #5CH

dl

X

[Xl

o
SXNHEE 2ARIX

2

A

HER3

]

JI A WXl

b

=
-

©
Ok

0
0F
)
ol
)

Ok

o)
id
N

N85
N85
A9

15,305

38,981
10,885
285
10,600
1,453

3,150
120
4,002
866
3,336
1,732
1,604
54,286
10,800
200
200
10,600
600
1,000
9,000
1,424

=l

5

3

120,000& 1
50,000 123
1,000,000

200,000 *1
100, 000& »90&

401,0003 x22 2

433,0003 x22 2

teltl

prl
)

tel

2
)

A&

=

=3
O0r2sJ1+ =Xl

01 AtR2telbl
01 AFR2t2ltl

d

X

206 =4I

ul

=
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FA e XA
I AME 2= 2E
Chel: A&s 2aHs 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 1,424 1,453 A9
OsdEM=3sE & 21 F2ESF 7Y 1,424
OMgDIRASF(50¢L)
1,450 »2800H 406
OsE(E) S 88
10,6003 85+ 128 1,018
305 Hia =S 500 500
01 that=S 500 500
Oo0r23I1+ XSt sSSH IR
= 10,0002 53] 500
307 @20l & 3,79 3,69 97
05 212t =S 3,792 3,695 97
OsdME3E & a4 2l
316,000& 122 3,792
401 AIEHIZ R 0HYI 37,770 22,448 15,322
01 Al&H| 37,770 22,448 16,322
OSHMSIH 2| & HEFSAH1,850m)
13,270,000 13,270
Ok= Of2=sII+ WA
3,500,000 *38 10,500
ONE2s £33 Of2sJI7 &X
3,500,000 x4& 14,000
lgtel 29 538,856 478,641 60,215
LAY A3 L AT 538,85 478,641 60,215
g ussEd =M 243,065 230,790 12,275
201 er23| 13,260 10,945 2,315
01 AtR2te|HI 13,260 10,945 2,315
ougs 2 82 =5
70,0002 +62] 420
ovlgel S ¥ AL e wH
100,000 * 10H 1,000
oug? 2 25 Ro= MH 1,800
oug? SFAHEAM =2
72,0002 x25% 1,800
OO0t dg U WF 2A=E
120,000& * 102 1,200
onge=s g 6,040
(OF=g= 50,0002« 102 +8F A 4,000
OZI 23,0003 x 102+ Al 1,840
O2 Xt 5,0003*5 I 82 A 200
o= MEY 6,000 x50 x23] 600
oglgel Jt2I] A & A
1,100,000& *23] 2,200
206 M=l 8,790 7,410 1,380
01 M=4l 8,790 7,410 1,380
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SH: NYT BEXAD
ma: Dot 2o
Chel: pigglolar 243 U AlBI=ReaRR) (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 AR=R22as 294,043 246,043 48,000
©¢el2H| 290,000
Oog= 1,000,000 20+ 122 240,000
OsAl 7,000 x20H 250! 35,000
OS] 3,000 x20H 250! 15,000
0=%s 4,043
Odt= 50,0003 x 13 2 1,300
OoFs= 59,0002 x13&+2& 1,634
O&8H 62,0003 13 *1& 806
Ottst 31,0002~ 13 x1Z g 403
SNAsEE TN 448 428 20
201 er23| 448 428 20
01 At2teltl 448 428 20
O=kds HdLEE 7Y 345
OZegH &4 230,000 1M 230
O=AIEXI(M) 23,0003 58 A 115
oHldiHIg: 228 MH 103
Ol +=o 70,0003 *1H 70
Oyt 33,0002 14 33
HYRIIH(A4ZT HEXAD) 16,370,206 15,298,624 1,071,582
el 2| 15,883,548 14,806,623 1,076,925
el 13,215,267 11,287,311 1,927,956
101 @124H| 13,215,267 11,287,311 1,927,956
01 &= 12,224,709 10,455,266 1,769,443
oJlZ2= 7,342,004
OJlzs(dsH) 776,462
-42 96,030,000& *1& 96,030
52 85,054,000 +8& 680,432
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